
2H2O – 4ē → О2
o + 4Н+               1

Пример 1
Электролиз раствора CuSO4 (графитовые электроды) 

  Cu2+ + 2ē → Cu0                        2
4

 2Cu2+ + 2H2O → 2Cu0 + O2 + 4H+

  2CuSO4 + 2H2O → 2Cu0 + O2 + 2H2SO4 

К(-):
 A(+): 

CuSO4  →  Cu2+  + SO4
2-

раствор        H2O      H2O
                        К(-)         А(+)

К(-):                                        А
(+):



  Cu0 – 2ē → Cu2+                               1

CuSO4  →  Cu2+  + SO4
2-

раствор          H2O      H2O
                                           Cu
                           К(-)         А(+)
К(-):                                                          А(+):

Пример 2
Электролиз раствора CuSO4 (медный анод) 

  Cu2+ + 2ē → Cu0                        1
2

 Cu2+ + Cu0 → Cu0 + Cu2+ 

К(-):
 A(+): 
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Пример 3





С. 22-24, №8-11.


